Unit 1 -Functions and Their Gra
Section 1.1 ‘

Distance Formula
d= (x; — )2 +(¥2 — y1)?

Midpoint Formula

Xy + X% +
Midpoint = ( L > z,yl > yz)




Coordinate Plane

Name: —
1. 4 Quadrants j___ (“' 0 '|') \
2. x and y-axis \

(' i )

3. positive and negative in quad

<

+2riy (0.0) VP

4, origin
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Coordinate Geometry Lh "

If AHLM has vertices H(-3, 2), L (2, 1) and M (3, 6).
Show that the triangle is a right, isosceles triangle.

HL=J(vaPs (3¥3)
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B [-6,.2); € (-Z,6);
gach other and

If Quad ABCD has vertices A (-3, -1
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Section 1.2
Write a linear equation given the
following information.

1. m==andb = -1

N |

yzéxﬁ

2. m = undefined and through (1, -2)

Y




3. through the point (-1, 3) and m = %

y:mxﬂo
3= HD+b

3=‘a+b
3L=b
2 _
S -b

-4 ]
)’ a’(+§




4. through the points (5, 1) and (2, 7)




5. X-intercept of 3 and a y-intercept of -!
(3 07 ( O, -2)

-2-0_-2
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m: =2
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6. y-intercept of -1 and L to 3x -2y =4 |

= "y = 3x+Y
o2 77

3 )/: SX-<

FE ]




7. through (1, -4)and || to2x-y =4

-V = "Iut
y=mx+b y=ax-{
“4=2(N+b m=2
“Y:24)

bl DXQ



8. the perpendicular bisector of the segn
joining the points (7, 0) and ( 1, 8)



9. Atriangle is located at the vertices R (2,
S(5,5),and T (7, 1). |
A. Find the equation of the edian from R.

_3-2._| mx+b \/ E*“M-a |

a2
3 <b
B. Find the equatlon of the altitude from T.

Slqae «S" =1]  Yemxib
ms. (71) J IY—-l('l)‘\'b x

|=-7+b
$=b




10. Atriangle has the vertices A(-3, 2), B
and

C(4, 1).
A. Find the eq$atlon of the median from A

< 1,9, A
T m=2=0.2_ .| ? -mx+bm

a(l)"'b

J. |
"b
B. F_md the equatlonaof the altltude frgm C.
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Section 1.3

Linear Equations

Slope intercept form
y=mx+b

Standard form
Ax+By=C orAx+By+(C=0
m':.“ﬁ: b__&
B "B

x-intercepts always (#, 0)

y-intercepts always (0, #)




Important shapes to know

Parabola
y=(x—h)?+k

Vertex (\n, k)

Circle
(x—h)?*+(@y—k)=r?

Center (hK)
(adivs=




The point (-3, -5) lies on a circle whose ¢

(1, -2). Find the equation of the circle in

standard form. 2 > 3
bl p e

Conter (1-3)  (x-h)+ Oy R=r™
h K 2 X 35)

(x-]) - ()H- a) <

o

- Dist= | (304 Cora
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09. #11-20, 24, 26, (32-38 €
41, 42 ~

p.22 #7, (10-20 evens), (33, 34
graph only), 59, 62, 67

.36 #89, 90

.39 #129-132






